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Given the relations {(1,1), (1, 2),62:10:2,2),6, 3), (4,4)} on the set {1, 2, 3, 4}. Identify
whether the relations given are equivalence relations?
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= Answer ALL questions. Write your answers in the spaces provided.
= Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLO1,C2

The Venn diagrams show the sets A, B and C such that the universal s

diagram, shade
(a) ThesetANB

< B
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et, &= AUB U C.Onthe

-

Question 2

CLO1,C2
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Given the relations {(1,1), (3, 2),(2,1),(2,2),3, 3), (4,4)} on the set {1, 2, 3, 4}. Identify

whether the relations given are equivalence relations?
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»  Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLO1,C2 [4 marks]
The Venn diagrams show the sets A, B and C such that the universal set, &= AUB U C. On the
diagram, shade

(a) The setA(N)B 2
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CLO1,C2 [6 marks]

Given the relations {(1,1),(1,2), (2, 1), (2,2),(3,3), (4,4)} on the set {1, 2, 3, 4}. Identify
whether the relations given are equivalence relations?
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«  Answer ALL questions. Write your answers in the spaces provided.
y use a non-programmable scientific calculator.

= Show your working to get marks. You ma

Question 1
[4 marks]

CLO01,C2
AUBUC.Onthe

The Venn diagrams show the sets A, B
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(a) ThesetANB

g

(b) Theset (AN B) U ¢ : 7@

g

and C such that the universal set, &=

Question 2

%5 T b [oarke]

CLO1,C2 '
nthe set{1,2,3, 4} Identify

Given the relations {(1,1), (1, 2),42.15(2.2), G 3),(4,4)}0
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Question 1
CLO1,C2 [4 marks]
The Venn diagrams show the sets A, B and C such that the universal set, &= AU B U C.Onthe
diagram, shade
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Given the relations {(1,1), (1, 2).@5.2,2),3 3), (4,4)}onthe set{l, 2, 3, 4}. Identify
whether the relations given are equivalence relations?
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Instructions

= Answer ALL questions. Write your answers in the spaces provided.
= Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLO1,C2 [4 marks]
The Venn diagrams show the sets A, B and C such that the universal set, &= A U BuUC.Onthe

diagram, shade
(a) ThesetANB

g

(b) Theset(ANB) U '

Question 2
CLO1, C2 B [6 marks]
Given the relations {(1,1), (1,2), (2, 1),(2,2),(3,3),(4,4)} on the set {1, 2, 3, 4}. Identify

whether the relations given are equivalence relations?
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Instructions
= Answer ALL questions. Write your answers in the spaces provided.

= Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1
[4 marks]

CLO1,C2
uch that the universal set, &= AUBUC.Onthe

The Venn diagrams show the sets A,BandCs

diagram, shade
(a) ThesetANB
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Given the relations {(1,1),(1,2), (2, 1),(2,2),(3,3), (4,4)}on the set {1, 2, 3, 4}. Identify
whether the relations given are equivalence relations?
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Instructions 85 bpri¢ R 1OFE
»  Answer ALL questions. Write your answers in the spaces provided.
= Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1
CLO1,C2 [4 marks]
The Venn diagrams show the sets A, B and C such that the universal set, &= AU B U C.Onthe

diagram, shade
(a) ThesetANB

v
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(b) Theset(ANB) U ¢

Question 2 04
T TR A T e G arks)

€LO1,C2
Given the relations {(1,1), (1,2), (2, 1),(2,2),(3,3),(4,4)} on the set {1, 2, 3, 4}. Identify

whether the relations given are equivalence relations?
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Instructions

= Answer ALL questions. Write your answers in the spaces provided.

= Show your working to get marks. You may use a

Question 1

CLO1,C2

non-programmable scientific calculator.

[4 marks]

The Venn diagrams show the sets A, B and C such that the universal set, = AU B U C.Onthe

diagram, shade
(a) ThesetA
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N
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(3,3), (4,4)} onthe set {1, 2, 3, 4}. Identify

Given the relations {(1, 1), (1‘, 2),(2, 1).2,2),

whether the relations given are equivalence relations?
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